CITY OF VINELAND, NJ

RESOLUTION NO. 2022 - 328

A RESOLUTION AUTHORIZING AWARD OF A CONTRACT TO KOBELCO COMPRESSORS AMERICA, CORONA, CA, FOR THE PURCHASE OF SPARE PARTS TO SUPPORT OVERHAUL OF THE FUEL GAS COMPRESSOR ON UNIT 11.

WHEREAS, there exists a need for the purchase of spare parts to support overhaul of the Fuel Gas Compressor on Unit 11; and

WHEREAS, the City of Vineland has a need to acquire such service as a Non-Fair and Open Contract pursuant to N.J.S.A. 19:44A-20.5; and

WHEREAS, the purchasing agent has determined and certified in writing that the value of said services will exceed \$17,500.00; and

WHEREAS, the Director of Municipal Utilities has recommended that a contract be awarded to Kobelco Compressors America, Corona, CA, in an amount not to exceed \$126,319.00; and

WHEREAS, Kobelco Compressors America has completed and submitted a Business Entity Disclosure Certification for Non-Fair and Open Contract which certifies that Kobelco Compressors America has not made any reportable contributions to a political or candidate committee in the City of Vineland in the previous one year and that the contract will prohibit Kobelco Compressors America from making any reportable contributions through the term of the contract to a political or candidate committee in the City of Vineland; and

WHEREAS, the availability of funds for said contract to be awarded herein have been certified by the Chief Financial Officer; and

WHEREAS, the City of Vineland has certified that this meets the statute and regulations governing the award of said contracts.

NOW THEREFORE BE IT RESOLVED, by the Council of the City of Vineland that:

- 1. The Purchasing Agent be and the same is hereby authorized to issue contract to Kobelco Compressors America, Corona, CA for the purchase of spare parts to support overhaul of the Fuel Gas Compressor on Unit 11, in an amount not to exceed \$126,319.00.
- 2. That the Business Disclosure Entity Certification, the Political Contribution Disclosure Form and the Determination of Value be placed on file with the Resolution.
- 3. Notice of this action shall be printed once in the Daily Journal.

Adopted:

Adopted.	
	President of Council
ATTEST:	
City Clerk	

REQUEST FOR RESOLUTION FOR CONTRACT AWARDS UNDER 40A:11-5 EXCEPTIONS

(PROFESSIONAL SERVICES, EUS, SOFTWARE MAINTENANCE, ETC)

07/20/2022
(DATE)
Service (detailed description): Purchase of spare parts to support overhaul of the Fuel Gas Compressor on Unit 11
2. Amount to be Awarded: \$\frac{126,319.00}{}
Encumber Total Award Encumber by Supplemental Release PECEIVE
3. Amount Budgeted: \$\frac{150,000.00}{20000000000000000000000000000000
4. Budgeted: By Ordinance No Or Grant: Title & Year
5. **Account Number to be Charged: 2-05-55-512-9001-52000 E548X
6. Contract Period:
7. Date To Be Awarded: 8/9/2022
Recommended Vendor and Address: Kobelco Compressors America
1450 W. Rincon St, Corona, CA 92878
9. Justification for Vendor Recommendation:(attach additional information for Council review) Kobelco Compressors America is the sole source for the spare parts needed to overhaul their Fuel Gas Compressors.
Non-Fair & Open (Pay-to-Play documents required) Fair & Open: How was RFP advertised?
10. Evaluation Performed by: Ayanna Gardner x4290
11. Approved by: Steve August x4241
12. Attachments:
Awarding Proposal Other:
Send copies to: Purchasing Division Business Administration * If more than one account #, provide break down



Kobelco Compressors America, Inc.

(Formerly KEC) 1450 W. Rincon Street Corona, Ca 92878 Phone: (951) 739-3030 Fax: (951) 739-3122 www.kobelcocompressors.com

Quotation

Company: Attention:

City of Vineland

KCA Quote Number 17707 R1

Ayanna Gardner

Date:

Tuesday, July 19, 2022

Phone:

856-794-4000

From:

Jeremy Gibson

jeremy.gibson@kobelco-kca.com

Email:

agardner@vinelandcity.org

Approved By:

David Washington David.Washington@Kobelco-KCA.com

Ref. No.: ES-469

Line	Part Number	Description	Qty	UOM	Unit Price	Ext. Price	Lead Time (Weeks)
1	M83110534	MD BALANCE PISTON	1	Ea	\$1,290.00	\$1,290.00	24
2	M83110436	FD BALANCE PISTON	1	Ea	\$911.00	\$911.00	24
3	M83110288	Balance Piston Bush (M)	1	Ea	\$1,067.00	\$1,067.00	24
4	M83110289	Balance Piston Bush (F)	1	Ea	\$846.00	\$846.00	24
5	M83120640	MD PISTON RING	1	Ea	\$2,451.00	\$2,451.00	28
6	M83120467	FD PISTON RING	1	Ea	\$1,208.00	\$1,208.00	24
7	M83120066#01	O-Ring	1	Ea	\$651.00	\$651.00	19
8	M83120066#02	O-Ring	1	Ea	\$604.00	\$604.00	19
9	M83120066#03	O-Ring	1	Ea	\$604.00	\$604.00	19
10	M83130039	Journal Bushing (Suc)	1	Ea	\$2,533.00	\$2,533.00	36
11	M83130039	Journal Bushing (Suc)	1	Ea	\$2,533.00	\$2,533.00	36
12	M83130456	Md.Fd Journal Bushing	1	Ea	\$2,700.00	\$2,700.00	36
13	M83130456	Md.Fd Journal Bushing	1	Ea	\$2,700.00	\$2,700.00	36
14	M83130045	MD ADJUSTING PLATE	1	Ea	\$940.00	\$940.00	24
	M83130463	FD ADJUSTING PLATE	1	Ea	\$769.00	\$769.00	24
16	M83130047	MD THRUST ADJUSTING PLATE	1	Ea	\$891.00	\$891.00	24
17	M83130464	FD THRUST ADJUSTING PLATE	1	Ea	\$621.00	\$621.00	24
18	S01501992#71	Thrust Pad	8	Ea	\$430.00	\$3,440.00	44
19	S01501992#42	Thrust Pad	11	Ea	\$202.00	\$2,222.00	44
20	S01501992#71	Thrust Pad	8	Ea	\$430.00	\$3,440.00	44
21	S01501992#42	Thrust Pad	11	Ea	\$202.00	\$2,222.00	44
22	M83130049	Md Thrust Box Bush	2	Ea	\$557.00	\$1,114.00	36
23	M83130050	Fd Thrust Box Bush	2	Ea	\$290.00	\$580.00	36
24	M83150169	PIN	1	Ea	\$159.00	\$159.00	19
25	M83159560	SPINDLE	1	Ea	\$1,376.00	\$1,376.00	28
26	P-GA04-021#62	St Seal	1	Ea	\$353.00	\$353.00	44
27	P-GA04-022#02	Piston Seal	1	Ea	\$58.00	\$58.00	44
28	P-GA04-021#06	St Seal	1	Ea	\$26.00	\$26.00	44
29	M83150455	Tape Liner	1	Ea	\$76.00	\$76.00	19
30	BRUB-CB-220	C-Snap Ring-Bore	2	Ea	\$84.00	\$168.00	19
31	BRUB-CB-210	C-Snap Ring-Bore	2	Ea	\$76.00	\$152.00	19
32	P-AA13-007#21	Lock Washer	1	Ea	\$131.00	\$131.00	19
33	P-AA13-007#14	Lock Washer	1	Ea	\$76.00	\$76.00	19
34	BRMC-AW-017	Lock Washer-Brg	1	Ea	\$11.00	\$11.00	19
35	BRMC-AW-011	Lock Washer-Brg	1	Ea	\$11.00	\$11.00	19
36	BRMC-AW-010	Lock Washer-Brg	1	Ea	\$11.00	\$11.00	19
37	BGRN-OG-0230	O-Ring	1	Ea	\$62.00	\$62.00	19
38	BGRN-OG-0210	O-Ring	1	Ea	\$51.00	\$51.00	24
39	BGRN-OG-0130	O-Ring	1	Ea	\$11.00	\$11.00	19
40	BGRN-OG-0095	O-Ring	2	Ea	\$11.00	\$22.00	24
41	BGRN-OG-0075	O-Ring	1	Ea	\$11.00	\$11.00	
42	BGRN-OG-0035	O-Ring	1	Ea	\$11.00	\$11.00	24
43	BGRN-OG-0135	O-Ring	1	Ea	\$11.00	\$11.00	32
44	M83100106#18	O-Ring	1	Ea	\$26.00	\$26.00	19
45	M83100106#10	O-Ring	1	Ea	\$15.00	\$15.00	19
46	M83100105#A9	O-Ring	1	Ea	\$257.00	\$257.00	19
47	BGRN-OP-0215	O-Ring	1	Ea	\$87.00	\$87.00	24

KOBELCO

Kobelco Compressors America, Inc.

(Formerly KEC) 1450 W. Rincon Street Corona, Ca 92878 Phone: (951) 739-3030 Fax: (951) 739-3122 www.kobelcocompressors.com

Quotation

From:

Approved By:

Company: City of Vineland KCA Quote Number 17707 R1

> Ayanna Gardner Date:

Tuesday, July 19, 2022

Attention: Phone:

856-794-4000 agardner@vinelandcity.org

Jeremy Gibson David Washington

Ea

Ea

Ea

Ea

1

1

1

1

\$628.00

\$1,515.00

Extended Total

\$

\$11.00

900.00 \$

\$628.00

\$1,515.00

\$126,319.00

\$11.00

900.00

24

19

28

jeremy.gibson@kobelco-kca.com David.Washington@Kobelco-KCA.com

Email: Ref. No.:

ES-469

Line	Part Number	Description	Qty	иом	Unit Price	Ext. Price	Lead Time (Weeks)
48	M83100105#76	O-Ring	1	Ea	\$73.00	\$73.00	19
49	BGRN-OP-0085	O-Ring	1	Ea	\$15.00	\$15.00	24
50	M83100105#50	O-Ring	1	Ea	\$69.00	\$69.00	19
51	BGRN-OP-0026	O-Ring	1	Ea	\$11.00	\$11.00	28
52	BGRN-OP-0280	O-Ring	1	Ea	\$131.00	\$131.00	24
53	M83100105#98	O-Ring	1	Ea	\$199.00	\$199.00	19
54	M21850143	Ball Bearing	1	Ea	\$13.00	\$13.00	24
55	M81750159	Back-Up Ring	2	Ea	\$11.00	\$22.00	24
56	BRUB-CA-030	C-Snap Ring-Shaft	1	Ea	\$11.00	\$11.00	19
57	BRUB-CB-062	C-Snap Ring-Bore	1	Ea	\$11.00	\$11.00	19
58	M83100105#15	O-Ring	2	Ea	\$11.00	\$22.00	28
59	BGRN-OG-0030	O-Ring	1	Ea	\$11.00	\$11.00	28
60	RF205M013#02	Gasket	2	Ea	\$11.00	\$22.00	19
61	M83100591	MECH.SEAL CARTRIDGE ASSY FOR SPARE	1	Ea	\$49,337.00	\$49,337.00	44
62	BRMC-AW-020	Lock Washer	1	Ea	\$14.00	\$14.00	19
63	M83100590	MECH.SEAL CARTRIDGE ASSY FOR SPARE	1	Ea	\$32,862.00	\$32,862.00	44
64	BGRN-OG-0070	O-Ring	1	Ea	\$10.00	\$10.00	28
65	BGRN-OB-0037	O-Ring	1	Ea	\$27.00	\$27.00	28
66	RF202M372	Gasket(T=0.5)	2	Ea	\$11.00	\$22.00	19
67	RF202M276	Gasket	1	Ea	\$11.00	\$11.00	19
68	RF202M277	Gasket	1	Ea	\$26.00	\$26.00	24
69	RF202M299	Insulator	3	Ea	\$279.00	\$837.00	19

Payment Terms

70

71

72

Net 30

Validity of Quotation

30 Days

Delivery (Subject to prior sale)

51-JS-12M-002#01

RF202M278

RF202M373

Comments:

44 Weeks A.R.O.

Potentiometre

Shipping to site

Coupling Assembly

Gasket

Terms of Delivery

EXW, Corona, CA

Items Not Included

Duties, Freight, Taxes, etc.

Please note if you have a Tax-exempt form or Resale Certificate please provide it when you place your order.

Thank you in advance for your consideration.

Sincerely,

Aftermarket Sales Department

Note: Our quotation is conditioned on the attached KOBELCO'S Commercial Terms and Conditions - September 9, 2011

KOBELCO's COMMERCIAL TERMS AND CONDITIONS - September 9, 2011

1. Place of Delivery

As stated in quotation.

2. Terms of Payment

As stated in quotation.

3. Time of Shipment

As stated in quotation.

4. Warranty

Supplier warrants the Equipment quoted herein to be of proper materials and first class design and workmanship. Should any part of the Equipment prove defective in materials, design or workmanship within the warranty period stated below and should it be clearly found that the defects are caused by Supplier, Supplier will furnish inspection service and repair at Supplier's cost or replace the defective part on the basis of the contractual delivery terms, but the labor cost at the site and other indirect cost, including staff or engineering cost by Purchaser/Owner is not borne by Supplier, provided that the machinery or equipment is operated under normal conditions and further that the proper notification of such defects is made to Supplier within the warranty period and reasonable opportunity is given Supplier to make a complete inspection to determine the extent and cause of such defects. The warranty period is 12 (twelve) months from the date of shipment. Corrosion, erosion and normal wear are out of scope of warranty.

THE ABOVE REMEDIES ARE THE EXCLUSIVE REMEDIES OF THE PURCHASER FOR ANY CLAIM THAT THE EQUIPMENT FAILS TO MEET THE WARRANTY SET FORTH ABOVE.

Supplier DOES not make any other warranties, whether express or implied, including but not LIMITED to merchantability and fitness for particular purpose or special circumstance.

5. Force Majeure

Supplier shall not be considered in default in the performance of Supplier's obligation hereunder if such performance is prevented or delayed due to Force Majeure. As used in this quotation, Force Majeure includes, but not limited to, act of God, war (whether declared or not), armed conflict (whether internal or international), insurrection, riot, civil commotion, storm, rebellion, strike, lockout, tidal waves, flood, lightning explosion, fire, earthquake, act of any government and any other happening (whether similar to other foregoing or not) which we could not reasonably prevent or control.

6. Consequential Damage

The Seller shall in no event be liable to Purchaser/Owner or any other clients by way of indemnity or by reason of any breach of Purchaser/Owner in tort or otherwise for loss of use of the Equipment or any part thereof or for loss of production, loss of profit or loss of any contract or for any indirect, special or consequential loss or damage that may be suffered by Purchaser/Owner or any other clients in connection with the Contract.

In any event, Supplier's total liability shall not exceed the price of the Equipment on which such liability is based.

7. Suspension

Suspension of work by Purchaser/Owner shall be limited for 60 days, but, if it exceeds 60 days, it shall be automatically considered as Termination for no default of the Supplier, unless otherwise mutually agreed for the extension. If any additional costs (ex. Storage cost, maintenance cost) shall occur to Supplier during the suspension period, it shall be reimbursed with overhead (20%) by Purchaser/Owner The additional costs shall be paid by Purchaser/Owner in monthly basis.

8. Cancellation

Purchaser/Owner may cancel its order only upon written notice and the payment to us of reasonable and proper cancellation charges including all incurred <completed works, purchased items and overhead (20%) > cost performed by Supplier. The cancellation fee shall be paid within 30 days after Purchaser/Owner's cancellation notice.

9. Duties and Taxes

The prices quoted herein do not include any import duties, withholding tax, Federal and Provincial sales taxes, other taxes, fees or charges, of whatever nature, now and hereafter imposed in the final destination. Purchaser and/or Owner shall be responsible for any duties and taxes after the delivery point in the Contract.

10. Governing Law and Arbitration

The contract by and between Supplier and Purchaser for the Equipment shall be governed by and construed in accordance with laws of the State of New York, USA.

If any dispute is caused during the contract, Purchaser/Owner and Supplier do their best efforts to solve it by mutual efforts.

However, any dispute, controversy or claim arising out of or relating to the contract or any alleged breach thereof, which cannot be settled by mutual agreement between Purchaser/Owner and Supplier, shall be settled by an arbitration in conformity with the Rules of Conciliation and Arbitration of the International Chamber of Commerce, in accordance with such rules for the time being in force. It will be held in New York, NY, USA.

12. Validity

30 days from the date of commercial quotation.

13. Scope of Supply

In accordance with commercial quotation per Supplier's Technical Specification.

14. Packing and Inspection

Packing shall be as per our standard packing. Inspection shall be executed by Supplier at Supplier's works according to Supplier's standard. If an inspection by Purchaser or third party is required, and acceptable to Supplier, all charges incurred for inspection shall be borne by the Purchaser.

15. Shipping

Shipping contracts made by Supplier shall be to Purchaser's account. All claims for loss or damage after risk of loss has passed to Purchaser shall be filed by Purchaser with the carrier. Purchaser shall be liable to Supplier for the full price of the goods, irrespective of loss or damage in transit. Supplier shall not be required to provide freight cost receipts to Purchaser at the time of invoice. Purchaser shall bear all risk and expense for delivery of goods, including without limitation, shipping, loading, unloading, storage, freight, and insurance. Goods may be shipped to Purchaser in whole or in part. Title to goods shall pass to Purchaser when delivered to the carrier or the Purchaser, whichever occurs first, even if the goods are shipped freight prepaid. Among other things, a signed delivery receipt or bill of lading will constitute proof of delivery. The choice of carrier is made solely at the discretion of Supplier, and Supplier makes no representation as to the acceptability of a particular carrier. Except when Supplier expressly agrees in writing, Supplier does not guarantee shipment or delivery by a certain date or time, although Supplier will strive to deliver goods by the date that it may communicate to Purchaser. Supplier shall not be liable to Purchaser, or any other person, for any loss or damage of any kind which results from delay in shipment, delivery, or failure to give notice of delay, whether or not such delay was caused by Supplier or otherwise. Upon request from Purchaser, Supplier may accept to ship on prepaid-and-and basis, however a handling fee of 15% of prepaid shipping cost may be applied and added to our invoice.

16. Payments

A monthly charge of 1.5% may be charged on amounts owed by Purchaser to Supplier that have not been paid within the due date, subject to the maximum amount permitted by law.

17. Remarks

The other terms and conditions not mentioned herein shall be mutually agreed later.